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Chapter 1

Monopoly:- is the firm that’s the only seller of a product ,no were

substitutes and can influence prices, such as Microsoft and windows,

Debeers and diamonds
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Monopolies arise because of:

S key resources is owned by the firm
S the government gives the firm exclusive right to produce the good

$ costs of production make one producer more efficient than others
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Monopolistic Competition:- Market structure in which many firms sell

products that are similar but not identical
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Characteristic of Monopolistic competition

S many sellers
Sproduct differentiation (download , sloping , demand curve)

Sfree entry , economic profits are zero
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Competition with differentiated products

1. the monopolistic competitive firm in the short Run
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S Each firm in monopolistic competition faces a downward , sloping demand
curve
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S the monopolistically competitive firm follows the monopolist's rule for
maximizing profit
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->it chooses the output level where marginal revenue is equal to
marginal cost
L) 48l (5 gl (o) dilad) ) Cun ZURYY (g gl LA gl
—>it sets the prices using the demand curve to ensure that consumers
will buy the amount produced
9 Al g meall dasl) (g RS igan (L3N @) 28U uthal) dada o dalay ) pudg
dadial)
S we can determine whether or not the monopolistically competitive firm
is earning a profit of Loss by comparing price and average total cost(ATC)
AR Jau gia g ) 55l (Bish 08 ilend af gl ) (BT AS AN JA yand SN ol
# if Price > Average total cost, the firm is earning a profit
CL) (@al AS Al b dAIKH e Sl mad) S 1)
# if price<Average total cost(ATC), the firm is earning a loss
Al 385 A A ol AR (e JB) md) oS 1)
#if price=Average total cost, the firm is earning zero economic profit
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2-the Long —Run Equilibrium
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S when firms in monopolistic competition are making profit , new firms

have an incentive to enter the market
S Saaad) s Jal) dary 138 ol ¢ Ll ) A iaY) dudlial) b cils dd) 38a0 Laaie
Aod) Ji
—>this increases the number of products from which consumers can
choose
DR B el Aalh ) ) s 138 g claiiall 3 daw 108§ ged) JANT Basaa CilS 1 L)
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—>thus, the demand curve faced by each firm shifts to the left
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Swhen firms in monopolistic competition are incurring Losses , firms in the
market will have an incentive to exit
Z AL JAall cils il ey 1 b ¢ il 4y iaY) dudlial) b cils pdld) 38a0 Laie
Aoed) (1
- Customers will have fewer products
—>demand curve shifts to the right
A Ml g "piial) SLAA) B Aald) Ghula™ J8 cilailal) ¢ (gad) (e g AT GlS A L)
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S the process of exit and entry continues until firms are earning zero
profits
VS M A Yy L) YT A i (3 gedd) IS AN £ sa g i Dles
—>this means that the demand curve and the average total cost curve are

tangent to each other
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3-Monopolistic versus perfect competition
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SExcess capacity

—>the quantity of output produced by a monopolistically competitive firm is
smaller than the quantity that minimize average total cost
I ) ApaSl A jlie Al sand 3 )SEAY) ddliall S 58 Ao s daiiall dca 5 yrall A0Sl
" 3,01 A<l Lo e
—this implies that firms in monopolistic competition have excess capacity
because the firm could increase its output and Lower its average total cost
of production
30l ) LeiSay 4S5l (Y dlaind 3,08 Legal 3 SiaY) ddliall L8 <l il o) e 138
il ) A Lo e S 5 L
—>in perfect competition "price=minimum average total cost"
A<l 481K Jand gia (g gl raal) Aalliall Adlial) A
—>in monopolistic competition price is greater than marginal cost
L) 4RI a8 ) A SEaY) dddlial)

—>in perfect competition , price is equal to marginal cost
L) A8l (5 gl srd) Allial) dcdlial) A

4-Monopolistic competition and the welfare of society

1. business stealing externally(Negative):- the externally which occurs

because as new firms enter, other firms lose Customers and profit

2 . product variety externally(positive):- the externally which occurs

because as new firms enter, other firms earn Customers and profit
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what about (the critic and Defense of advertising)?

Defense

-provide information to consumers about the products

-increase competition because consumer take full informed about all
firms in the market

-increase pleasure of consumers when purchasing anything
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critic
-affect consumers tastes

- reduce competition because it increases perception of product
differentiation
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Brand names

- provide customers with information about quality
->give firms an incentive to maintain high quality
-1 A jladl) cilaMad) plawd
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Microsoft software monopoly
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Corrupts computer part

governments/countries manifactures design
T hardware compitable
- to Microsoft
ﬁ ﬁkeep

manage i
actions to Microsoft evolution

keep status block
quo

at
operating
system
level

Exchange jag™ —

regularly
format

wont be able to run
document that doesnt
support new system
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Social and political dimension of proprietary software

aware

of people] social and political

political i dimeqsion of
dimention proprietary software

Y= [political
p—e—, 1 dimentio

orginator

computer discover back doors to everv onr aareein
operating control and monitor the Y J g
system world without noticable

software resources of

water , power
supply musnt
essential resource be in control

why? processing private , public of signal
, corporate information
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What should government do about monopolies?
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public ownership do nothing
bureaucrals run monopoly and sometime market failure is better
inpus marginal cost pricing than political failure

Regulation Antitrust Laws encourage competition

: department of justic prevent
intervense the market and mergers that monopolise an

control marginal cost and industry
Average total cost

people can sue firms that
engaging to restrant of trade
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Choose the correct Answer:-

(1) The externality which occurs because as new firms enter, other firms lose custoners and profit

(a) The product-variety

The business-stealing (¢} The posit]
externality g (o positive

externality externality (d) Nothing

(2) provide customers with information about quality

(a) advertising M Brand names

I. Write the reasons for arising the monopolies.

[T1, Write ahout (The Defense of Advertising) in the Debate over Advertising.
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Define A Monopoly 7

Define A Monopolistic Competition ?
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What should governments do about Monopolies ?
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Chapter2
Skilled Labor:-

_are those who have received enough training to become licensed

or certified in a particular trade filed

b Sanll (il a1 gy S AL/ Gy i 1 6AL Cpdll ap -2 B alal) Allaal)
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-such as carpenter, engineers , plumbers, painters, software
development, paramedics, scientists , builders

Human capital:

"the department of work force that have high skills level that

achieve profits"

(8alal QA&SJJ@@&Q\J@A = iy Jeaadl 535&&5}-:‘5&\‘;&\)
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Companies are willing to bid up packages to skilled labor as:

The lack of skilled labor now days consider problem and the firm
want to achieve profits
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The migration of skilled labor arise because of:

the lack of security ,opportunity
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Some countries see the migration of skilled labor not as a drain

but as a gain because :

in their return with skills, would contribute to promote country
aghiage Ao (Y e i B led Cud Ay yall Allaad) 3 b ) 5 5 Jgal) Gan
4l 4l PRCY) J#‘“A ) ol L g B gauiS) (Al) agl) g

Education skills such as:-

1 — on the job training (farmhand )
2 —apprentice ship(carpenter)

3 —Vocational certification(chef)

4 — associate degree(draft man)

5 — graduate degree(astronauts)

6 —un graduate degree(teacher)

7 —professional degree(dentist)

8 — high apprenticeship(engineer)

Supply and demand
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supply =

demand

ol pa LyasSe (52l canakity -zl g (o sl

S When many firms enter to the market 2> products
increase>demand decrease
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S when the firms close to the market=>products decreases 2>
demand increase

Lgade alajy cullal) N 5 J85 cAaiialld (5 geal) (e cilS ) 7 AT Ladie

supply schedule

is the table that show the relationship between the price of a good
and the quantity supplied

A g pmall 4asll g ilal) jri Cp ABDad) gridaga A Jgaad) sa-: gl adl Jgda

The determinants of supply:-

1 — costs of production
2 — firm expectation

3 — number of suppliers
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Demand schedule:-

The amount of goods that buyers are willing to purchase at various
prices

Adlida ey o3 Lo idy LAY adlagli/cilaiiall sse & —rcalhal) g

the law of demand:-

the demand curve almost faces downward-sloping, this mean that

prices decreases ,consumers will buy more of products
¢ ) culd LalS AS) (g 138 g landl A g Laily callall (st —zallal) o gild
claiiall (a8 iS cilias (o 8T Gl 3 (8
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The determinants of demand

1 -income
2 — tastes and preference
3 — prices of goods and services

4 — Customer expectations about future price and incomes that
will be checked

5 — number of potential customers
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Tastes and preferences is one of the determinants of ,

(a} Supply 4T Demand (¢} Predatory pricing  (d) Nothing
Number of potential consumers is one of the determinants of .
% Demand (b} Predatory pricing (e) Supply {d) Nothing

Write only, the term that expresses each of the following paragraphs:

_ Is atable that shows the relationship between the price of a good and the quantity supplied.
- (supply schedule) o

Are those who have received enough training to become licensed or certified in a particular trades

field.
(skilled labor)
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Whatis the points for Determinants of supply ?

What is the points for Determinants of . Demand?
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Chapter3

Predatory pricing:-

—is a double-edged weapon

-->is detrimental to consumer welfare in a long run because once
competitors exist the market, the predator arises prices to maximize
profits

—reduce the incentive in investment and many firms exit the
market , the result is backing to monopoly level
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Price competition:-

—>the cure element of free market
= Lower prices , competitions increase customer welfare

—>if customer feel that the price is unfair , there will be social
harm and the line between competitive and anti- competitive
need to drawn carefully

adil) Adlia
Al Gl 58 0l painll$
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Define a price as in(Merriam —Webster dictionary)

"The amount of money given or set as consideration for the sale
of a specified thing"

S 9 ol o (o gald B ) o sgda
podl 5 A) adlia

—the quantity of one thing that's exchanged with another thing

—>the amount of money that the customers have to pay for a
product
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The four keys of marketing mix is:-

1 —price
2 —place
3 —promotion

4 —product

Marketing Mix:- is set of controllable marketing variables that

marketers employ to obtain the desired responses from their
target markets

Price theory in economics

Define how the firm set prices under assumptions to maximize
profits

C)A:\SJA.AAMJMY\Quﬂ\@ﬁdﬁdﬂg-:dhﬁméﬂ\&g#
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Price fixing

Is the price that's collusion between competitors

"o " ) 8 88 ) ) ady or culll) ad)
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there're two problems :-

- price maintenance problem:-implies manufactures cannot

require their dealers at pre-specified price

) o Aslaal) AlSdia

= price discrimination problem:-implies that sellers must offer

the same price for a given type of transaction

..'“ ws‘ "' Ss &
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Three methods of setting a product's base price:

1 — Cost-oriented pricing

—>marketers determine the costs of marketing a product then
adding the desired profits

-2y LA § L Y) il Cpiny g Y gl griial) L) ARIST saas Aol

Mark up pricing Cost-plus pricing
Adding the amount to their Calculate all costs then
cost to arrive to the price adding the desired profits

2 — demand oriented pricing

—>marketers determine what consumers are willing to pay for a
product

Qbﬁ& ;\.)Luad.u,&i" :\ﬁ\ Agua‘glésm "é\.’uﬁ\ f«\)«.ﬁ&ﬁjj\ SJ.ﬁ JAAS:\.QLA\
5 Ay Ghdnag el 1o i

3 — competition-oriented pricing
—>price above the competition
—>price below the competition

—>price in line competition
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There're two ways to determine reseller prices

backward Forward
Subtracting the mark up Adding the mark up to
for the channel member the channel member
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To introduce a new product , two methods may be used:

" JLEAY) A sam aa (paga" LR b pelall

Skimming pricing Penetration pricing
setting a high price for Setting a low price to
a new product to encourage higher
capitalize on high distribution and exposure
demand

flexible-price policy

"The different price which consumers pay for a product"

one-price policy

"the same price which consumers pay for a product”

AN A AN A AN A A A A A A A A A A A A A A A A A A A

WA AN A A AN A ANy A AN Ay A A A




AN AL AN AL AL AL AL AN NSNS NSNS A

NAL NN NNNNNNNNNNNNNNNNNNNN

Strategies in pricing process

To adjust the base prices , marketers may employ one of the

follow strategies

Product mix pricing

lining pricing or bundle pricing

sets a limited number of prices for
specific groups of merchandise
optional pricing

technique that option prices for
specific group of merchandise

Geographical pricing

refer to price required
because of the location of
consumers for delivery of
products

Segmented pricing
strategies

four factors

*Buyer identification
*product design
*purchase location
*time of purchase
" agaa Gnaga”

psychosocial pricing

Aeadly (L) a2 g

are pricing techniques that
help create an illusion for
customers
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odd —even pricing

setting prices that end in
either odd or even number
to convey certain image

S8 B (e S ) o
gl 3 ) poa Gy Gllile (a9
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Prestige pricing

Sets higher-than-average
prices to suggest status and
high quality to the customer

A Glale” e al) g

" 33 gally & Lkl

Multiple unit pricing
Suggests a bargain and helps
to increase sales volume

~ .

O
"‘7\73& A5y 2AUA 435
Everyday low prices

(EDLP)

Are low prices with no
intention of raising them
or offering discounts in
the future
Os¥ pse JS Aaidie lal
S aay gl ) (A
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Promotional pricing
Is generally used in
conjunction with sales
promotions where prices
are reduced for a short
period of time
lsn 1o age " (o g 5l el
e pae geiiall g il el g-r
33 gana b yal yadda
Loss leader pricing
Offering very popular
items for sale at below
cost prices
Alatiall-r 3 jludy oy ymndl)
dans )

Special event pricing
ltems are reduced in price
for short period of time,
based on a specific
happening or holiday
Al Gbulia) (8 el
L;qujmz)ﬂmjuu\
sagoe" Al (il ) a s Dl

ll o
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Discount pricing and Consumer who buy large
trade discounts amounts of a product will
receive discounts and
rewards "Quantity"
S clatie g jidad ) ¢ g
Hijas clagad Al (LS ada g
Discounts may be :-
1 — non cumulative
2 — Cumulative

AgaS) i b ()9S (San Sl guadl
ApaS) 8 (985 (Saa g

Trade discounts
Are the way manufacturers
guote prices to wholesalers
and retailers , they are not
actual discounts
Sessional discounts
Are offered to buyers willing
to buy at a time outside the
customary buying season
ALY -1 dpan gall cila guadl)
oedlal) Jaa ™ Dia o) ! dantiusall
Gub (5 91 Gl 48 By plIAY 8
543 S0 agua s a2y Lo
L) Bantiacall (ulill e guad Jany
s gal) € aniga 8 dala g
"ge iy

Trade in allowances

Go directly to the buyer,
customers are offered a
price reduction if they sell
back an old model of the
product they are purchasing
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Steps in determining
prices

Sestablish pricing objectives
SDetermine costs

Sestimate demand and
study competition

Sdecide on a pricing strategy
and set prices

Pricing technology

Smart pricing
Allows marketers to make
intelligent pricing

Computer software

Uses the data to suggest
prices and advice when to
take mark downs

Electronic shelves , digital
price labels

Change price quickly and
easily
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cloud computing

"known as on-demand computing ,is a kind of internet based
computing ,where shared resources, information, and data to
computers such as "laas-paas-saas"”

.PaaS: offer development environment to application developer

iaas: offer additional resources as virsual machine, disk amiage
.services

Saas:-provide software services to the consumer hosted on cloud
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Is detrimental to consumer welfare in the long run because once the competitors exit the market
. . . v r‘ w n - - !
the predators raises prices with the intention of collecting supra-normal profits.

(1) Price competition  (b) Base pricing MPn:datory pricing  (d) Nothing
Setting a high price for a new product to capitalize on high demand.
{n) Base pricing M ici o P e e : :
ase pricing MSkmlmmg pricing (e} Predatory pricing  (d) Penetration pricing
Setting a low initial price to cncou vage higher distribution and exposure,
3 1t ' v -
% Penetration pricing (b) Skimming pricing () Base pricing (d) Predatory pricing

lts vendors offers a development environment to application developers, also it including
&y - _— . [ " ¥ =
uperafing system, programming-language exeewtion environment, database, and web server.

(a} Lhility Computing {b) [aaS /PHLIS (d) Saas

Write only, the term that expresses each of the following paragraphs:

n

Is defined as "The set of controllable marketing variables that marketers employ to obtain the
desired responses from their target markets". (Marketing mix)

" Is one in which all customers are charged the same prices, quoted to them by means of signs and
price tags without deviations. (one price strategy) '

~ Refers to price adjustments required because of the location of the customer for delivery of
products, whereas, the manufacturer assumes responsibility for the cost and management of product
delivery.
(Geographical pricing)
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If. Write short notes about Service models of Cloud Computing,.

Define A Price as in "Merriam-Webster Dictionary' ?

Define A flexible-price policy ?
- Define A Cloud Computing ?

‘What is the points of Establishing the Base Price ?
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Chapter4
Cost — benefit Analysis(CBA)

is a systematic approach to estimating the strength and
weaknesses of alternatives that satisfy transactions, activities,
requirement for a business

Jilasll Cimacal) g 3 ) Jali ayanl oandili g A -rAAlSHl g 20l gl Julas
48 i) cilllaia g ddadiy) g cdlalaal) Ja) (e "eladial)™

CBA has two purposes

—>determine if it is a sound investment/decision

- Comparing projects

Break Even:-is the point of balance making neither a profit nor a

loss

Sl ¥y quulSa ¥ dua ) gl A a

Break even point(BEP):-is the point at which total cost equal total

revenue "there's no loss or gain" "profits=0"

A 2ilal) aa A1 ARISH (g ghaa Wi Al Aduil) A -z Jatadl) Adaki

Break Even Level:- represents the sales amount in either unit or

revenue that's required to cover total costs
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Purpose of Break Even Analysis(BEA):-determine the minimum
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output that must be exceeded to make profit
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Prove the break Even point(BEP) in terms of unit sales(x).
TEC
X =
pP—V

Total Revenue(TR)=Total cost(TC)

(Px X)=TFC+(v x X)
(Px X)-(vx X)=TFC

X(P-v)=TFC
v TEC
T P—v

Where:

TFC—>Total Fixed cost ,P 2 unit sale price , V=2 unit variable cost

S Profits

Break Even point

losses

units
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Choose the correct Answer:-

1.is a systematic approach to estimating the strength and weaknesses of
alternatives that satisfy transactions, activities, requirement for a business

( Cost-benefit Analysis —Break Even Analysis)

2 . represents the sales amount in either unit or revenue that's required
to cover total costs

(Break Even point —Break Even — Break Even Level)

3 . at which total cost equal total revenue ,there's no loss or gain

(Break Even point —Break Even —Break Even Level)

4 . balance making neither a profit nor a loss

(Break Even point —Break Even —Break Even Level)

| ' . . TFC
Prove the break-cven point (BEP) in terms of Unit Sales (X): X = T
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Chapter 5

money management

is a strategic technique employed to make the money yield the
highest interest yielding value for any amount spent
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Present value:- (PV)

The current Worth of a future sum of money of cash flows , given
a specified role of return

Future value(FV):-

The value of an asset or cash at a specified data in the future,
based on the value of that asset in the present

FV
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Calculate the present value of money at the following case:

one hundred Euros will be paid after one year from now ,where the
expected rate of return is 6% per year.

Solution

FV=100 Euros
r=0,06

n=1

PV=7?7?

FV

PVZ(1—r)n

. 100
(1—0,06)1

= 106,38 Euros
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Define
1 - Money Management
2 —Present Value

3 — Future Value
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Calculate the future value of money at the following case:

the current value of money now equal 92 Euros, where the expected rate
of return is 5% per 25year compute the value of money will be paid after 3
years from now.
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Calculate the future value of money at the following case:

the current value of money now equal 92 Euros, where the expected rate
of return is 5% per year ,compute the value of money will be paid after 3
years from now.

PV=92 Euros

r=0,05

n=3

Fv=2??
FV=PV(1-—1)"

= 92(1 — 0,05)® = 78,89 Furos
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Chapter 6

cloud computing

"known as on-demand computing ,is a kind of internet based
computing ,where shared resources, information, and data to
computers such as "laas-paas-saas"”

Service Model of cloud computing

Paas: offer development environment to application developer

iaas: offer additional resources as virsual machine, disk amiage
.services

Saas:-provide software services to the consumer hosted on
cloud

If. Write short notes about Service models of Cloud Computing,

Define Cloud Computing?

-~ Its vendors offers a development environment to application developers, also it includins
=

operatmg system, programming-language exeention environment, da tabase, and web server,
{n} Lhility Computing {b) [aas % Paas (d) SanS
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